EURO MORTISE MOUNTING

R SERIES

PASSAGE M300 - 2" BS

Refer to template no. 004

KEYLOCK M350 -2" BS

Refer o template no. 006

All levers with square back plates,
include square escutcheon plates for keylock sets

Sample Specification
For a 2" Backset Privacy

Lever - CB51 R - M340 - Satin Nickel

Function Q T

Finish

%
COLOMBO

MADE IN ITALY

PRIVACY M340 - 2" BS

Refer to femplate no. 005

HD KEYLOCK HDM350 - 2” BS

HD Mortise also available in 2%" or 234" backset

Refer o template no. O06E

DOUBLE DUMMY D190  SINGLE DUMMY D185

No hole required.
Single dummy spindles
are surface mounted.

Refer to template no. O1TA

Refer to tfemplate no. 0118




INSTALLATION INSTRUCTIONS FOR PASSAGE EURO MORTISE LOCK R M300 - ored door condition

- TOOLS REQUIRED: ——PLEASE NOTE ]
Euro Passage Mortise . s Q - Red side PLEASE NOTE
- 5/8 Dia. Drill Bit, 5/8 Router Bit for Pocket, Required )
. R . hole Springs are handed. Black must be
: e N 7/8 Router Bit for face plate and Phillips Screwdriver. positioning facing you for Right Hand Lever.
n; 9/16”/ /. N Red for Left Hand Lever.
UI— 13.5 mm [ g g PN | i Black side
T 3o ||5a Passage Strike
o 1/8"/2.5 ©
12 mm " /2.5 mm ~ =
______________________________ E- -] } PARTS INCLUDED WITH YOUR
ha i NEW PASSAGE LOCK
% | |
N : |
£ . W 3 IMPORTANT: 3
) 1 6/16°/8 m g 5/8"/ ; REVIEW DIAGRAMS CAREFULLY ;
2 o 15 mn | BEFORE PREPARING DOOR | STRIKETEMPLATE
- B I 1
T ' | 1
@ £ 3 2"/ 50 mm BACKSET TEMPLATE ‘ |
o — N ope’/ | POINT NO. 2 (face bore) ! 3,
© | |
_ © ! |
) i |
,_\ : | | h
L] S 1 : g
o : i o 8
£ S 3 o = :
© = 5! 8 !
- o1 T .
dode= £l I E—— oL
- I°H o ! ! Centre
; L3 3 g
3 SRVARN E 5! 5 5
= S g| 2 3 | 2
2 8§ = 8| = LR
= N Q o7 -
< j] o ol e g
< © £ o | Passage Parts To Reverse Latch:
@ BE:'E{P- 5 3 g 1. Right Hand Lever Handle (inside)
0O aa | || 5! 3| 2. Allen Key 1. Uitup
80 MM c! 5 | 3. Handle Set Screw (2) stopper (A).
- _g ' % - 4. Screws #8 (4)
3 S Lo / oemes 5. Spring Pack
[y | mETa
‘52_ o i ) (Right Hand inside Shown)
=~ : 1 Lo, 6. Passage Spindie 2. Push in latch
g S 7. Passage/Privacy Euro Mortise ?S‘VO”?’t 0
< | 5 E* i 8. Face Plate Screws (2) ace plate. 5
2= 272 1225 0m I 9. Spring Pack (outside) fo =
1 ' = 111677425 mmy 10. Left Hand Lever Handle (outside) EJFV [
: 7/8" / 22 mm | [| —|
| } ! £ SHEE
1 g2 Lole
3 S e Lg/'&“"’/“ N Rotate latch 180°
! % T 2 until it is in the
/: : 5 = reverse position.
1 |
| 8 o o8| | | g
! = € ; = b
| - = |
1 © ' I
U NI el | \\© Template #004 - RH
3"/ 76 mm ! 7/8"/ 22 mm




non-bored door condition

Euro Privacy Mortise TOOLS REQUIRED: o side PLEASE NOTE
_ 5/8 Dia. Drill Bit, 5/8 Router Bit for Pocket, Required Sorings are handed. Black must be
B oy = ole .
T P N 7/8 Router Bit for face plate and Phillips Screwdriver. positioning facing you for Right Hand Lever.
n; 9/16”/ /. ) Red for Left Hand Lever.
I [185m (ol |[af] Black side
) T \éc» Bl Privacy Strike
12, _ 1/8°/25m \E\ P
______________________________ E_T2 ) } PARTS INCLUDED WITH YOUR
= ; | NEW PRIVACY LOCK
o 3 3
£ N 3 :
: ij ! IMPORTANT: |
5 E 5/8"/ : REVIEW DIAGRAMS CAREFULLY 3
z o 15 mn | BEFORE PREPARING DOOR | STRIKE TEMPLATE
b ' | 1
El— : 2"/50 mm BACKSET TEMPLATE |
&N 9/16”/ ! i
% 14 mm | POINT NO. 2 (face bore) ‘ 3 2
@ i :
S : 3 : 5
= | | e 3
‘ o | | 3 :
o = 5| 8!
N - o T __ _ A
R X1 | R I | BRI
- o1 o ! ! Centre
E ¥ § : !
8y I\ g o 3 5 T 1
= e F g g 8 3 | 2
= THMEE K L
2 SRR = o 7 o 31
= [ N © N = Y
~ Slels N ~| 3 > o |
- © R 1 =
% PEES DRILL ©| £ | o | Passa_ge Parts o To Reverse Latch:
o~ | o s’; DEEP 3|3 2 1. Right Hand Lever Handle (inside) 1
O 31/4” [} § S 2. Allen Key 1. Lift up A 5
80 MM c! 5 ! 3. Handle Set Screw (2) stopper (A). °
- 2 2 - — 4. Screws #8 (4) E;
£ S o /i oenes 5. Spring Pack 0=
[y ; =
? o ; | =t (Right Hand inside Shown)
=~ : } RECT) 6. Passage Spindle 2. Push in latch
g = ! - — 7. Passage/Privacy Euro Mortise ?eyonfl )
= ﬁ \ \ : 5e % 8. Face Plate Screws (2) ace plate.
7 | 2 oz /z2smm | N | 9. Spring Pack (outside)
] A j 11/16"/42.5 mm) 10. Left Hand Lever Handle (outside)
£ ; 7/8" /22 mm I
I | ! ! g
< ! e / N Privacy Parts
o ! B 716"/ |y | = °
z:l] O s i N 1 ”'5’“"“9'“ & 1. Thumbturn (inside) Er%tiﬁteiéaitrﬁhgo 0
/: i 5 T < 2. Thumbturn Set Screw reverse position.
1 U | 3. Rose (inside)
i £ g E E E 4. Screws #4 (4)
115/167/ 49.5 mm 17/25.5 mn ! o KN A N 5. Springless Pack (inside)
) = . EIE o 2 6. Springless Pack (outside)
i T = ) 7. Rose
. - Z \\‘J/ | 8. Washer
1 © 9. Emergency Release Spindle
_________________________ [ Syl ' Template #005 - RH
ol
3"/76 mm ! 7/8" 122 mm




FOR KEYLOCK EURO MORTISE LOCK R M350 non red door condition

Euro Keylock Mortise TOOLS REQUIRED: o s PLEASE NOTE
. " . . ed siae
_ 5/8 Dia. Drill Bit, 5/8 Router Bit for Pocket, Required Springs are handed, Black must be
B TTH - ole -
T s N 7/8 Router Bit for face plate and Phillips Screwdriver. positioning facing you for Right Hand Lever.
Il 916"/ / Red for Left Hand Lever.
~ = .
I [18sm [wellBf) Black side
T \5° § 2 / Keylock Strike
B 1/8"/2.5 % g
12 mm " /2.5 mm e
______________________________ E_ 70 ) } | PARTS INCLUDED WITH YOUR
h i i NEW KEYLOCK LOCK
e : 3 STRIKE TEMPLATE
; R : |
: »” | IMPORTANT: !
5 ] 6/16"/8m £ 5/8"/ : REVIEW DIAGRAMS CAREFULLY |
= o 15 mm | BEFORE PREPARING DOOR i
3 = : :
~ £ i i .
@ El- ! | 27/50 mm BACKSET TEMPLATE ;
— 16" | :
— & 94 46m/ 1 POINT NO. 2 (face bore) 1 1
© | |
L— - |
O 5 | | s
\ 5 | | | h ) ,
—w S s ‘ 1 T
=~ . ] 5 8
£ © | . s }:‘ N
© = 5! 8 1 i
N - o1 3 5
§od— |1 N0 O D 1 MR AT
- S 'Y ! Centre
: L g g
Sy I\ £ 5 £ 5 | < :
= € < - el @ £ > ! >
= e | e| & = qE 3 o =
. - >
© E L] - S| > ~ T !
= 0 ;l_l] QI8 ) - 5 © S
- I =2 I Py i
- q N N ~| ) o
N = Blele o o & S
N |o | - | = T | 8|
EAD a8 g ® I
5! S | =
. 2 5! \ / To Reverse
E o o i Latch:
© - ol 2 Passage Parts )
(E f 8! o 1. Right Hand Lever Handle (outside) ;{olgf;:rp
= © . i 2. Allen Key (A).
~ IS | L : 3. Handle Set Screw (2)
g — /‘\ ‘ ' 4. Screws #8 (4)
~ 1 : i 5. Spring Pack
< D ' .
- DRILL : y ' (Right Hand outside Shown) i{tE#Sh n 0
DE;EE: i 6. Passage Spindle beyond
3 G ‘ ; 7. Passage/Privacy Euro Mortise face plate. To
8Q | g 8. Face Plate Screws (2) 2 15
£ ;I] O o | 9. Spring Pack (inside) > ‘}:
8 /: - | 10. Left Hand Lever Handle (inside) 1
g | i ; Locking Parts 3. Rotate
2 ! . : 1 1. Profile Escutheon latch 1807 o
— E | 1 . until it is
o 115/16"/49.5 mm 17/255 mm ! o ' ' 2. Escutheon Mounting Bracket in the
i : c 3. Profile Cylindar reverse
| ¥ £ ‘ : 4. Cylindar Screws position.
' - = ! i 5. Screws
| 1) | | 6. Escutheon Mounting Bracket
________________________ [ RTINS 7. Profile Escutheon
-l
7/8”/ 22 mm 3"/ 76 mm ! 7/8” /22 mm Template #006 - RH




13/4” | 45mm

HDM350 HD EURO MORTISE KEYLOCK WITH 2” BACKSET TEMPLATE For Non-bored door condition

TOOLS REQUIRED:

5/8 Dia. Drill Bit, 5/8 Router Bit for Pocket,

T - . 7/8 Router Bit for face plate and Phillips Screwdriver.
I onerr  © —
13.5 mm £ R
UL re 8l Kevlock Strike PARTS INCLUDED WITH YOUR
8 oy Y 15, 7 NEW HEAVY-DUTY KEYLOCK
112" /12 mm . 1/8" /2.5 mm N < - EURO MORTISE
"""""""""""""""" £ . KEYLOCK HDM350 i
I STRIKE TEMPLATE
? | LATCH TEMPLATE i
| |
H I I
< W | IMPORTANT: |
H ® " ! REVIEW DIAGRAMS CAREFULLY |
e IZI 6/16"/ 8 mm % 58"/ ! BEFORE PREPARING DOOR }
¢ -— @ 15 om : |
o 916"/ | } o
: 14 mm | |
\ 58 8 ! }
O $3 2 | i
ANy & | |
52
E . I I
© ! : 3
N =
= | 2°/50 m BACKSET TEMPLATE i g
E - |} ! =}
g A—_ N S O 1 i DR POINT NO. 2 (face bore) | 1 s
N I | - ~ -]
= I
- : | LEVER BORE - 5/8” o2 % % %\ g
i =
Q : | @ i Centre
1 = | | S
/—— S ! | 1)
- | e X 3
— o | @
\/ | S| =
' 51 w |
ol o
3 3 S S
o o E ° B
3 5 11/2"/38 mm o LY o .
© ° jl] B S gl o s b
~ 3 E E -~ = o
3 3 S N 3 i o -
‘g‘ ~ Y 8|-|8 % 2 8 : E E : Iﬁ To Reverse 1
© N S | I & 9 T Latch:
AR o| o = £ 1. Lift up A
@ @ 5 = Ql
T e o of 3! 3 3 Passage Parts T b o
:;3 | @ § i 1. Right Hand Lever %’7 —
g : | 2. Allan Key(2) 3
1_? ! o : 3. Lever Set Screw(2) :
112138 g, i 4. Lever Mounting Screws(2) Izétsr:ISh in
! } 5. Passage Spindle beyond
718" [ 22 mm | i 6. Passage/Privacy HD Euro Mortise e [Pkl fo @
| : 7. Left Hand Lever 2719 4
| L : 8. Lever Mounting Screws(2) ' 3:
| ‘ i 9. Face Plate Screws(2)
€ : ! : : 3. Rolale°
g | w T Do Locking Parts latch 180
by I :';’:;"-E ;2‘/—;?“"‘ - 1. Right Hand Profile Escutcheon in the Io ©
(""" T rr 1 *g ”””” T - : ) | 2. Profile Esc. Mounting Screws L%vs(?{ii?]_ .
. 9) 2 ! ; 3. Profile Cylinder 3) =
o : | i 4. Profile Cylinder Screw
:f DRILL ! } 5. Mortise Screws(2)
e %)E/E“P | : 6. Left Hand Profile Escutcheon
N |
Z 2" /50.8m 17/ 25.4 mm H 80 MM | |
< I I
] | |
= | |
S | [
T O ! |
-~ I
5 | |
< | |
(05/10/18)Template #006E

3"/76.2mm 718" 122 wm



Template for DOUBLE DUMMY D190 - non-bored door condition

Determine backset

Fold on dotted line - Lay over edge of door

2-3/8” BACKSET TEMPLATE

2-3/4” BACKSET TEMPLATE

DOUBLE DUMMY

SPINDLE HOLE

DRILL ONLY IF YOU

HAVE LEVER OR KNOB ON
THIS SIDE OF DOOR

5/8” DIA. (16 mm)

PLASTIC ADAPTOR NOT USED FOR HD
SERIES & ROSES WITH 6MM CONCEPT

B3 4

Template #011A

Template for SINGLE DUMMY D185 - non-bored door condition

Determine backset

Fold on dotted line - Lay over edge of door

2-3/8” BACKSET TEMPLATE

2-3/4” BACKSET TEMPLATE

Use line markers to
locate surface mounted
dummy spindles

PLASTIC ADAPTOR NOT USED FOR HD
SERIES & ROSES WITH 6MM CONCEPT

L

Template #011B



	EUROPEAN MORTISE MOUNTING SHEET
	004 - R-Series European Mortise Passage - R-M300
	005 - R-Series European Mortise Privacy - R-M340
	006 - R-Series European Mortise Keylock - R-M350
	HD EUROPEAN MORTISE TEMPLATE-INSTALLATION.pdf
	HD EUROPEAN MORTISE MOUNTING SHEET
	006C-AGB Heavy Duty European Mortise - HDM350 PASSAGE (fixed)
	006D-AGB Heavy Duty European Mortise - HDM350 PRIVACY (fixed)
	006E-AGB Heavy Duty European Mortise - HDM350 KEYLOCK (fixed)
	007C-AGB Heavy Duty European Mortise - HDM360 PASSAGE
	007D-AGB Heavy Duty European Mortise - HDM360 PRIVACY
	007E-AGB Heavy Duty European Mortise - HDM360 KEYLOCK
	008C-AGB Heavy Duty European Mortise - HDM370 PASSAGE
	008D-AGB Heavy Duty European Mortise - HDM370 PRIVACY
	008E-AGB Heavy Duty European Mortise - HDM370 KEYLOCK




